Efficiency vs Dxy(PV)
0.5

e

o

o

1
T T T T O T

w"luuu
A

S E=3015-10 -5 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT_original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
I Efficienc] —— DQM_TT__mod_modelsdeep_somethingbetter

Ratio

0:7 ul ||\| Hh

—1—08—06— 4020 02040608 1
TP dxy(PV) (cm)

0.5

ICl
o
o
[*2]
L LAY LLAAS LN AN AL R RN LA

o

o

=
T

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5
09

0.
0.0
0.0
S goo0
('U
0.05
0.04
0.03
0.02
0.01}

=
>
(3
5
b
>
Iy
<

Rl LAALY LALLY B

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


